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120 Nearsightedness

A nearsighted person has a far point of 1.5m and a normal near point of 0.25m. A single
corrective lens is used to allow that person to view objects that are infinitely distant. Assume
that the lens is placed against the eye.

a) Determine the focal length of the lens so that the person can view an object that is

infinitely distant. Is the image of this object (created by the corrective lens) larger or
smaller than the object?

b) Determine the location of the closest object that the person can see clearly]

¢) With this corrective lens, what is the range of vision of the person?
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